MATH 334: SPRING 2012: Quiz 6 |

Plesse put your work on this page. Box your answers. Thanks and enjoy. You have 15 minutes to
complete this quiz. Choose two of la,ib,lc.

§ 8

_3 _4}. SOIVE%IAE.

Problem la [3pts] Suppose A = [

4 1

Problem 1b [3pts| Suppose A = [ 0 4

]. Solve & = AZ.

La) dob (557 ﬂfy\) = (-¢)(Z+4) vt = 2-2R =2A(2-2) =

U ) =12 =0, R, =2
@‘"OI>U“ = ﬁs oy J = LO y
' M T -3
—3y ~Yv =0 = Vz“ﬁeu = U, = LJ

“
B . Q ....B ...;..A - [ j
Yy Ev mo = VEFUWF ‘

- [41 . k] 3|
Wam e, Bﬁfﬁ@i»ﬁj"’"ﬁf’ [‘f]j

1b) dob (7 %_‘_,1”) = (4-2) =6 = A=Y dwiu

(s = (5 L)[0]= (8] = L5 -

Si%

1

g*«:w-—’—"-.«
‘ t_,_.,w)

Seebt ?},mm;z»i E'M f_-ﬂ’\)&{fj"“ﬁ‘f u‘,& Caiha, M (A "IT) (}I';

o =[] s M e sog =)
o OV C)—J Vo= L

—rmmp

v "’"‘Q v o ld T e :‘{ i«
Votra eI = (G AA-UDE T - wifiwj
}'ef/zﬂm T}?&f}“"‘g uz, == 9%&( E/f-a, %M ) Wié’\;ﬂ»ff: :ﬁsra‘nm

c’fﬁimg E’{f"gﬁ _ C,G% &fj,,&; {ze‘ff([?]_f-f/‘ofj)“f?




Problem 1c¢ [3pts| SupposeAz{l3 i’} Solve 9 = AZ.
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Problem 2 [2pts] Suppose &4 [ gt ] Find 4.
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Problem 3 [2pts] Suppose Aisa 4 x 4 matrix with eigenvalues 1 and 3. Furthermorc Suppose Uy, o
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